EARAROBREBRT —5 XN—ZXBISH—F

20224628278 (B) 2@41112H

/R e

175X

(¥538) FHin

EEE=CIEE

16000 R

[AE%] 17%&:7,500,000 § ~ 23&:3,000,000 .~ 37:1,900,000 "  43%&:1,100,000 5 3&:750,000

B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
wREY — st 3 | JI|ERAE 1:35.4 5-5-3 4.4 923 1 492 | BERFDIE 5)
1171 7| Ly RFEZL—D 56.0 ) W) | @) BRR-ZAL-—yv7
KR:O—RApFrO7 B:SANI—Y /=Y ITr—1L
T 4 3 | HELURE 1:35.5 4-4-4 | 34.6| 91.1 | 2 480 |EHE GEH)
2(5(5(T=T-19% 5.0 (72 e |HLE
RiW—=S5—=IvF B:T7AVRAA e
~ » 43 | ANEF 1:35.6 2-3-4  |34.8]90.0 | 4 | 554 |FOHIE—ER (G5)
3101 | EYIF7H5—b 56.0 ) ) |SEBS
RiFAIXTv— B:AURRI J—YYTr—L
~ — s 3 | HEES 1:35.6 2-2-1 | 34.9] 89.8 | 9 490 |BFHL (EH)
418|9|9AVES—T 56.0 \F) gy | _#) DAY
R:EvI7—H— B:OREXU— ARET21—T7—L
—3 N s 3 | NEEE 1:35.7 9-10-10 |34.2| 89.2 | 7 52 | LRiEZ ()
51718 | =Y/ A—RZ7 56.0 ) (6 |BLET
RN—EVIv— B:UvFIL LIS
— '~ 4 3 | EHOBE 1:35.8 8-8-4 [34.5]88.0 | 3 46) |PHEX &8
61810/ T boATY 5.0 &) #8) |DMMRU—LTST (i%)
R:O—RAHFrO7 B:FAMoATY FUAYT7—L
Sy~ e # 3 | M FA—O 1:36.2 9-5-4 |35.1|8.6| 6 448 | ERESE G5H)
7Rl 4| EIVRYIAL 5.0 @ 1/) o | B LyrYIyo
RiFA TR v— B:IAST7AN— NIUAT7—1A
- I 3 | PIBEX 1:36.2 5-5-8 35.1] 836 | 5 A6 | EiEE ()
8 2 | Z7O0OY 54.0 NF) 0 |KEBLF
RINBVFSY BZSVRYwvAY BEX X=E
1~ ~ 1 3 | GiElE 1:36.4 7-8-8 |35.2| 81.4 | 8 472 |RMEB EH)
9 3| b=tV ILEVH 56.0 a1/4) 12 | BlIES:
Rib—trL—7 #:b—trvOorEy BRAEM IXF4T7—L4
4 3 | HELLBEA 1:36.8 1-1-2 [ 36.3| 72.8 | 10 | 480 |EEE=AI (555H)
1008 6 | 1HOR A53.0 2172 o) | BETRS
R:RLTFY B:by)L—AB—=U— BT 7—L
[ BN
Eh' 47.4-34.9
NOVFA L | 12.1-11.6-11.8-12.5-12.5-11.9-11.0-12.0
@ I1—JF—BEBIEfI
13—7F—
230—F— |6(1,9)5(2,7)3-10-(4,8)
3al=zr= 6,9,1,5(2,7,4) (3,10)8
43— — (6,#9)7(1,5,10,4) (2,3)8
o ILRE
B 7 180 AR 5-7 1909 AR 5-7 430 3EE 1-5-7 5708
B B 7 110 =7 1804 F5 EE 5-7 430 3EE 74571 1,720
5 130 1-5 2904 o= 7-5 6804
1 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




